9. [10] Prove correct with respect to precondition that 4, &, and ¢ are defined and
postcondition (Mmax =av max=hbv max =c) A (max >a) A (max=>b) A (max>c):

max =a
(max=a) A(b>a)

(max=a)A(b>a)A(b>c)
(max=b)A(b>a)A(b>c)
(max=a)A(b>a)A(b<c)
(max=c)A(b>a)A(b<c)

((max=b)A(b>a)A(b>c))v((max=c)A(b>a)A(b<c))

max == a
if b > a then
{if b > c then
max:=b
else
max = c}
else
{if > a then
max : = c}
max == a
if b > a then
{if b > c then
max:=b
else
max = c}
else
{if > a then
max : = c}

(max=a)A(b<a)
(max=a)A(b<a)a(c>a)
(max=c)A(b<a)a(c>a)

((max=c)A(b<a)a(c>a))v((max=a)a(b<a)a(c<a))
((max=c)A(b<a)a(c>a))v((max=a)a(b<a) A(c<a))
v(i(max=b)A(b>a)A(b>c))v((max=c)A(b>a)A(b<c))
((max=c)Aa(c>a=b))v((max =a) A(b<a) A(c<a))
v((max=b)A(b>a)A(b>c))v((max=c)A(c>b>a))
(max =av max =bv max =c) A (max > a) A (max >b) A (max > c)

wp(if x> ythenx:=y,x<y)=((X>y) = true) A(X< y) = (X< y))

=true Atrue
=true



